www.dke.ru

LWnunbka pesbboBas, kopoTkasa DIN 975/976

L HasHaueHue
( ( * KpenneHne TpyBHbIX XOMYTOB K Npoduisam m
)) = KOHCONAM, c?ep,MHeHwe MOHTaXXHbIX aKceccyapoB
Mexay cobon.
XapakTepucTukun
+ Knace npoyHocTn 4.8 ana ucrnonHeHus 1;
« ucn. 1 - cTanb, ranbBaHMYeCckn OLMHKOBaHHas.
O603HaueHue MxL L, MM Kopg, ucn. 1
M8x40 40 CM200804
M8x60 60 CM200806
M8x80 80 CM200808
M8x100 100 CM200810
M10x40 40 CM201004
M10x60 60 CM201006
M10x80 80 CM201008
M10x100 100 CM201010
M10x150 150 CM201015
M10x200 200 CM201020
M10x250 250 CM201025
M10x300 300 CM201030
M12x80 80 CM201208
M12x100 100 CM201210
M12x350 350 CM201235
LWnuneka-wypyn
HasHaueHue
« KpenieHne TPyGHbIX XOMYTOB U MPOUYNX
MOHTaXHbIX aKkCeccyapoB B lepeBsiHHOe
OCHOBaHWe, TMbo B KUPMNWY, 6ETOH, NPUPOAHbIN
KaMeHb COBMECTHO C Ato6eneM COOTBETCTBYIOLLErO
pasmepa.
XapaKkTepucTuku
« Kjlacc NpoYHocTn 4.8 Ans ucrnonHeHus 1;
« ucn. 1 - cTanb, rabBaHMYeCcku OLMHKOBaHHas.
0O603HaueHne MxL L, MM A, MM B, MM P, MM Koa, ucn. 1
M8x60 60 20 30 3 CM260806
M8x80 80 30 40 3 CM260808
M8x100 100 40 50 3 CM260810
M8x120 120 50 50 3 CM260812
M8x150 150 50 50 3 CM260815
M10x80 80 20 45 3 CM261008
M10x100 100 40 45 3 CM261010
M10x120 120 40 55 3 CM261012
M10x150 150 50 55 3 CM261015

279





